
INSTALLATION AND CARE GUIDE
ข้อแนะนำ�การติดตั้งและการดูแลรักษา

PATIO/ แพททีโอ
URINAL SENSOR

แป้นเซ็นเซอร์สำ�หรับโถปัสสาวะชาย

IMPORTANT CONSUMER INFORMATION

Consumer Responsibilities
	1.	 Do not attack the sensor.
	2.	Do not directly flush the sensor with water. The sensor is an electronic instrument.
	3.	Do not let sunlight or other light source enter or be reflected into Sensor Window.
	4.	Do not hang on the opposite wall any reflective items or install light/electronic sensor such as toilet 
	 	 flushing sensor.
	5.	Do not make Sensor Window near strong ultraviolet or electromagnetic field.
	6.	Keep the sensor window clean. The sensor cover can be cleaned by soft rag with neutral liquid detergent. 
	 	Do not use eradicator, abrasive powder or oil acid or alkali liquid detergent. Do not spray air freshener,
	 	 disinfectant or other kind of odious removing, cleaning organic liquid to the sensor directly.
	7.	Urinal is designed or use with potable water. Avoid water that includes a lot of contaminants or acid/alkalli  
	 	water and impure water.
	8.	When AC power unit is connected to 220V AC power supply. Corresponding protective measures should be  
		  taken.
	9.	 Please confirm no water penetration at the connection area of AC wire. And the connection area is not easy  
	 	 to be affected by damp.
	10.	Don’t connect power unit to AC power supply until the sensor installation is finished.
	11.	The head AC power supply must be protected with appropriate fuse.
	12.	Please confirm the AC power supply and water supply should be shut off before maintaining the products  
	 	with AC power related.
	13.	All electrical connection must be compliance with related regulation and codes.
	14.	All installation staff should be well familiar with installation instruction.

BEFORE YOU BEGIN

•	 Please read these instructions carefully to familiarize yourself with the required tools, materials, and installation  
	 sequences. Follow the sections that pertain to your particular installation. This will help you avoid costly mistakes.  
	 In addition to proper installation, read all operating and safety instructions.

•	 All information in these instructions is based upon the latest product information available at the time of  
	 publication. Kohler China reserves the right to make changes in product characteristics, packaging, or availability 
	 at any time without notice.

•	 These instructions contain important care, cleaning, and warranty information - please leave instructions for  
	 the consumer.

REQUIRED TOOLS AND MATERIALS

•	 Open end/adjustable wrenches
•	 Tape measure
•	 Basin Wrench
•	 Pipe wrench
•	 Square
•	 Level
•	 Socket wrench with sockets

•	 Screw driver
•	 Seal tape
•	 Connection wire
•	 Wire cutter
•	 Insulation tape
•	 Bushing

K-8791X-YC03/K-8988X-C03

Kohler Co.	 1	 1146966-X2-A



SERVICE PARTS PAGE

Fixed Cap

1039038-SP
Filter

1045451-SP
O-ring

1045450-SP
Gasket

1045448-SP
Center Unit Spring

1039036-SP
Adjustment Bolt

1045444-SP
Filter Bolt

Lock Nut

Lock Nut

Hex Pan 2.5 mm

Slurry Mold

Flushing Control Stick

Screw M4X5

Screw M3X8

Control Box Bracket

1117927-SP
Control Box Assy

1056047-SP
Sensor Lens

1056046-SP*
Cover

Gasket Sponge

Screw M4X50

Screw M3X6

Screw
M2.5X6

1045457-SP
Pressing Board

Valve Box

Valve Body

Connector

AC

1109605-SP
Stop Valve Assy

1045449-SP
Center
Unit Assy

1045447-SP
O-ring

1045451-SP
O-ring

1100658-SP
Bracket Assy

1045445-SP
O-ring

1045441-SP
O-ring

16306X-NA
AC Use Only

O-ring

Connection

1045459-SP
O-ring

1045456-SP
O-ring

1056081-SP
Solenoid Valve Assy

1045461-SP
Diaphragms Assy

1045458-SP
Valve Cover

1045460-SP
Spring

8988X:1069309-SP
8791X:1145338-SP
Restrictor

1045462-SP
Membrane
Bracket Assy

Connector

**Finish/color code must be specified when ordering

1146966-X2-A	 2	 Kohler Co.



Dimension A B

Model

K-4904X-ER 534 -
K-4904X-ET 534 ≈150

K-4986X-ER 402 -
K-4991X-ER 534 -
K-4991X-ET 534 ≈150

K-5016T-YER 486 -
K-18645X-Y 455 -

ROUGHING-IN

NOTE:

a.	The dimensions above are just for reference.
b.	The connection take between the outlet connection and urinal is not supplied in this package. Please use  
	 K-2464X-NA as top inlet, use stainless steel hose as rear inlet.
c.	To ensure an effective flush performance, an urial with corresponding flush volume is required. And the urinal  
	 should comply with ASME A112.19.2-2003. Siphon urinal is not recommended.
d.	To insure you can use the sensor with ease, when used with rear inlet urinal, recommended inner diameter of  
	 stainless steel hose chose by customer is no less than 9mm. The connection dimensions are shown in the figures.
e.	To ensure an effective flush performance strongly recommended inner diameter of water supply (including  
	 water meter, valve, etc.) is no less than 25mm, and supplied water pressure (sensor inlet dynamic pressure)  
	 is 0.18Mpa~0.55Mpa.

Dimensions are approximate.
Unit: mm

B
280-360

A

125

125

80-120

G1/2"

Kohler Co.	 3	 1146966-X2-A



INSTALLATION

Install Bushing

Installation Site ≥75

≥90 ≥90

≥90

≥50

≥50

≈28

≈130

≈130

1.	Determine the installation location per rough-in  
	 dimensions. Chisel out a slot and install the supply  
	 tubing. Turn off the water supply. The depth of the  
	 slot is no less than 80mm, see the figure below 
	 for rough-in dimension requirement.
	 While installing AC, chisel out the slot indicated in  
	 the dot line area of figure below for installation of  
	 bushing.

	 NOTE:
	 a.	No light shall enter or be reflected into the sensing 
	 	 window.
	 b.	No reflectible objects in front of the sensing 
	 	 window (e.g., mirror, polishing stainless steel and  
	 	 some other polished plate).
	 c.	No strong ultraviolet radiation or electromagnetic  
	 	 field nearby.

Connector

Water Supply
(Recommended Inner 
Diameter Is More Than 25mm)

AC Power Unit
Nut

Outlet Connection

Outer diameter
of Bushing ≤25mm

Battens

The end of bushing
is not less than 5mm.

Connect control box
while installing AC

2.	Put the flush valve into the slot. Then connect  
	 the water supply and make the outlet aligned with  
	 the center of the urinal stall. Secure the flush valve  
	 with supporting block to make it flat and straight.  
	 Then connect the inlet pipe.

	 According to the dimensions of the urinal stall, the  
	 outlet fitting are connected and installed as shown  
	 in the rough-in

	 NOTE : please clean the inside of water supply pipe  
	 before connecting to the product.

SENSOR SPECIFICATIONS

Model 8791X-YC03 (0.5L)

8988X-C03 (1L)

Power 220V AC 50/60Hz

Liter per flushing Water pressure at 0.18~0.55 MPa : average flushing is no more than 0.5L 
Water pressure at 0.1 MPa : no more than 0.5L

Water pressure at 0.18~0.55 MPa : average flushing is no more than 1L 
Water pressure at 0.1 MPa : no more than 1L

Temperature Environmental temperature : 1 to 55°C

Starting pressure 0.05~0.9 MPa

Sensing distance 70 cm away from sensing window (Automatic adjustment range : 50~70cm)

Testing time About 2 seconds or 5 seconds (Automatic adjustment)

Flushing Mode Flushing after used

1146966-X2-A	 4	 Kohler Co.



When installing the power unit on the ceiling, please 
layout bushing according to the figure below and  
thread wire through the bushing.

When installing the AC power unit in cassette, please  
layout the bushing according to the figure below,  
and thread the wire through the bushing. Use of wires 
must be sheathed.

Please match 16306X-NA AC power unit when installing AC. The way of installation is as below.

		  CAUTION : 

	 	 a.	Outlet of AC power unit upward prohibited.
	 	 b.	Do not connect 220V C power supply to DC wiring terminal.
	 	 c.	Do not damage the covering of AC power unit or remove screws to avoid leakage.

Connection sketch AC power unit install in cassette.

CAUTION : One AC power unit can supply two  
sensors at most.

Connection sketch while installing power unit on  
the ceiling.

CAUTION : One AC power unit can supply two  
sensors at most.

Way 1:	 AC power unit is directly connected to electric  
	 control box.

Way 2:	AC power unit is connected to electric control  
	 box by connection wire.

AC POWER UNIT CONNECTION

INSTALLATION LOCATION OF AC POWER UNIT

Connector

16306X-NA
AC Power Unit

AC

Wire prepared by customer

AC Connector
Connector

16306X-NA
AC Power Unit

Connect with the same color wire,
and protect connect area by insulation tape.

Connect 220V AC
Bushing AC Power Unit

Ceiling

Bushing

Outlet
downwards

Connect
to sensor

Connect AC
Power Supply

Connect
to sensor

Connect AC
Power Supply

Outlet
upwards

Kohler Co.	 5	 1146966-X2-A



5.	While using AC power for 8791X-YC03 and 8988X-C03, connect solenoid valve with control box assy, and then  
	 connect AC power supply to power unit.

	 Install the cover as shown in the figure:
	 a.	Buckle the sensor cover into the wall slightly above bracket assy.
	 b.	Press the sensor cover down along the wall and fit tightly into the bracket assy.
	 c.	Push upward with hex wrench and rotate clockwise to lock the sensor cover.

3.	Tighten the slurry mold and valve box with short  
	 screws and then apply slurry into the crevice around   
	 the valve box. Lay the tiles.

4.	When the slurry turns solid, remove the short  
	 screws, pull out slurry mold, mount the bracket assy,  
	 and secure with long screws.

CAUTION : 

	a.	Keep the connector away from water.
	b.	Do not mistake the direction of inlet and outlet.
	c.	Do not connect the DC output of AC power unit to AC power supply.
	d.	Do not connect to power supply while installing. Connection line is not supplied. AC connection wire with insulating 
	 	sleeving is recommended. Wire of which the nominal section area of conductor is not less than 0.5mm2  
	 	is also recommended. DC connection line use wire of which the nominal section area is not less than 0.3mm2. 
	 	It is cut according to acted installation requirements (The length of cut wire is recommended less than 10m).
	e.	The head AC power supply must be protected with appropriate fuse.
	 f.	Please confirm the AC power supply and water supply should be shut off before maintaining the products with  
	 	AC power related.

Short Screw M4x10

Long Screw M4x50

Slurry Mold

Slurry Mold

Tiles
<40

Valve Box

a

b

c

Indicator

Hex Wrench

1146966-X2-A	 6	 Kohler Co.



USER’S GUIDE

MAINTENANCE

NOTICE: The first 10 minutes with power is the standby time for adjusting sensing distance. Persons or subjects 
should avoid standing before the sensor. The sensor will not flush during this time.

Working Status:  Before powering the system on, clear the unwanted objects in front of the sensor window 
lest shortening the sensing distance.

Sensing Distance:  During the first 10 minutes, when powered on, the system is in the phase of automatic 
regulation, and no operation is required.

Deodorizing Flushing:  The urinal will take a flush automatically when it’s used 3 or 4 times in 2 minutes.

Flushing Volume
If you need to regulate the flushing volume, you can  
take off the cover and turn the adjusting screw in the 
center of the stop valve to a proper place.

Manual Flushing
Approach the supplied special magnetic stick  
(flushing control stick) to the middle part of the  
sensor lens. The system is now at manual status  
and the indicator wil l  f lash every 1 seconds.  
Approach the flushing control stick to the window, it’ll  
start to flush; approach again, stopping flushing.  
This status will last for 8 minutes until it turns to  
the normal working status. (The flushing, if any,  
will be terminated when this status ends).

NOTICE: The longest flushing time is 30 seconds  
once. If the flushing control stick keeps near to  
the sensing window, the manual status will be  
terminated automatically and reassume the normal  
working status.

Urinal Repair :
When repairing, you don’t have to dismount the sensor. Cover the sensing window with tape and work with ease.

CAUTION : Don’t use very adhesive tape in case the scar will be hard to remove.

Care & Cleaning
Keep the sensor window clean. wipe the soft cloth and mild cleaner.

CAUTION :

a. Do not use dust-removing powder, abrasive powder or cleaner containing oil, acid or alkaline ingredient.
b. Do not spray air-refresher, disinfect, or other deodorizing, cleaning solvent directly into the sensor.
c. Keep wire away from water.
d. Don’t attack the sensor window.

Clean the Filter Screen
If the flushing volume reclines sharply after installation 
or used for a long time with no cause from water  
pressure, the filter may need a wash.

Turn off the fixed cap with filter-key, take out the filter,  
clean with a brush and reinstall it.

Notice:	Turn off the water supply or tighten the adjusting  
bolt before cleaning.

Adjusting Screw

Hex Wrench

Flushing control stick

Filter
Fixed Cap

Filter-Key

Kohler Co.	 7	 1146966-X2-A



TROUBLESHOOTING

Symptoms Probable Causes Corrective Actions
No flushing
(Indicator not 
flashing).

1.	No power or mistake connected.
2.	There is a mirror or some other reflectible 
	 objects within the sensing distance.
3.	The sensing window needs cleaning.

1.	Check the power connect.
2.	Remove the object.
3.	Clean the window.

No flushing or 
poor flushing while 
the indicator can 
flash.

1.	Still in the waiting status.
2.	Adjusting bolt not fully open.
3.	Low water pressure.
4.	Filter is obstructed.
5.	The connector is not connected well.

1.	Wait for 10 minutes.
2.	Open the adjusting bolt.
3.	Improve water supply.
4.	Clean the filter.
5.	Check the connector.

Keep flushing
indicator not 
flashing.

1.	The small hole of diaphragms assembly is  
	 blocked.
2.	Foreign objects exist in valve chamber.

1.	Clean the small hole of diaphragms 
	 assembly.
2.	Clean the valve chamber and diaphragms  
	 with a brush.

Battery indicating 
light keeps flashing 
and no flushing.

1.	Just power cut (AC). 1.	Check the power supply.

Please make following checks before repair:

1146966-X2-A	 8	 Kohler Co.



ก่อนเริ่มการติดตั้ง
•	 โปรดอา่นข้อแนะน�ำในคูมื่อเลม่นีใ้ห้ละเอียดครบถ้วน เพ่ือท�ำความคุ้นเคยกบัเคร่ืองมือและวสัดอุปุกรณ์ท่ีจ�ำเป็น รวมถงึขัน้ตอนการตดิตัง้ 
	 ปฏิบตัติามข้อแนะน�ำการตดิตัง้อยา่งเคร่งครัดเพ่ือหลกีเลีย่งความเสยีหาย นอกจากข้อแนะน�ำการตดิตัง้ โปรดอา่นข้อแนะน�ำเก่ียวกบั 
	 การใช้งานและข้อแนะน�ำเพ่ือความปลอดภยัให้ครบถ้วน

•	 ข้อมลูในคูมื่อนีม้าจากข้อมลูผลติภณัฑ์ลา่สดุท่ีมีอยูใ่นชว่งเวลาการจดัพิมพ์ บริษัทฯขอสงวนสทิธ์ิในการเปลีย่นแปลงข้อมลูผลติภณัฑ์  
	 บรรจภุณัฑ์ท่ีมีอยูโ่ดยมิต้องแจ้งให้ทราบลว่งหน้า

•	 คูมื่อเลม่นีมี้ข้อมลูส�ำคญัเก่ียวกบัการดแูลรักษา, การท�ำความสะอาดและการรับประกนั โปรดมอบคู่มือเล่มนี้ให้ลูกค้า

เครื่องมือและวัสดุที่ใช้ส�ำหรับการติดตั้ง

• ประแจปากตาย/ประแจเลื่อน
• ตลบัเมตร
• ประแจขนันอตใต้อา่งล้างมือ
• ประแจจบัทอ่
• ไม้ฉาก
• ระดบันํา้
• ประแจบอ็กซ์พร้อมชดุลกูบอ็กซ์

• ไขควง
• เทปพนัเกลียว
• สายไฟ
• คีมตดัสายไฟ
• เทปพนัสายไฟ
• ปลอกหุ้มสายไฟ

ข้อมูลส�ำคัญส�ำหรับผู้ใช้ผลิตภัณฑ์

ความรับผิดชอบของผู้ใช้ผลิตภัณฑ์

	1. 	อยา่ให้เซน็เซอร์ถกูกระแทก
	2.	 เซน็เซอร์ถือเป็นอปุกรณ์อิเลก็ทรอนิกส์ เพราะฉะนัน้อยา่ให้เซน็เซอร์เปียกน�ำ้
	3.	 อยา่ให้แสงแดดสอ่งโดนเซน็เซอร์
	4.	 อยา่แขวนวตัถสุะท้อนแสงไว้ตรงข้ามกบัเซน็เซอร์ หรือตดิตัง้เซน็เซอร์แสง/เซน็เซอร์อิเลก็ทรอนิกส์ เชน่ ฟลชัวาล์วเซน็เซอร์
	5.	 อยา่ติดตัง้เซน็เซอร์ใกล้สนามแมเ่หลก็ไฟฟ้าหรือแหลง่ก�ำเนิดรังสีอลัตราไวโอเลต
	6.	 ดแูลรักษาความสะอาดเซ็นเซอร์อยู่เสมอ ท�ำความสะอาดฝาครอบเซ็นเซอร์ด้วยผ้านุ่มและสารท�ำความสะอาดท่ีมีฤทธ์ิอ่อนๆ  
		  อย่าใช้ผงขดัหรือสารท�ำความสะอาดท่ีมีส่วนผสมของน�ำ้มนั, สารท่ีมีฤทธ์ิเป็นกรดหรือด่าง อย่าฉีดสเปรย์หอมปรับอากาศ 
  		  น�ำ้ยาฆา่เชือ้ หรือสารท�ำละลาย ประเภทอ่ืนๆ ลงบนเซน็เซอร์โดยตรง
	7.	 ผลติภณัฑ์ถกูออกแบบมาเพ่ือใช้งานร่วมกบัน�ำ้สะอาด หลกีเลีย่งการใช้น�ำ้ท่ีมีสิง่ปนเปือ้น น�ำ้ท่ีเป็นกรด/ดา่ง รวมถงึน�ำ้ท่ีไมบ่ริสทุธ์ิ
	8.	 เม่ือตอ่แหลง่จา่ยไฟ AC เข้ากบัแหลง่จา่ยไฟ AC 220 โวลต์ ต้องยดึถือปฏิบตัติามมาตรการเชิงป้องกนัท่ีเก่ียวข้องอยา่งเคร่งครัด
	9.	 ตรวจสอบการร่ัวซมึของน�ำ้ในบริเวณท่ีมีการเช่ือมตอ่สายไฟ และให้แนใ่จวา่บริเวณดงักลา่วไมไ่ด้รับผลกระทบจากความชืน้
	10.	 อยา่ตอ่แหลง่จา่ยไฟ AC จนกวา่จะตดิตัง้เซน็เซอร์เสร็จ
	11.	 ใช้ฟิวส์ท่ีมีขนาดเหมาะสมกบัปริมาณกระแสไฟฟ้าของแหลง่จา่ยไฟ AC
	12.	 ตรวจสอบให้แนใ่จวา่ปิดแหลง่จา่ยไฟ AC และวาล์วเปิด-ปิดน�ำ้ ก่อนซอ่มบ�ำรุงผลติภณัฑ์ท่ีใช้ไฟฟ้า
	13.	 ยดึถือปฏิบตัิตามกฎระเบียบและข้อบงัคบัท่ีเก่ียวข้องอยา่งเคร่งครัดทกุครัง้ท่ีเดนิสายไฟ
	14.	 ท�ำความคุ้นเคยกบัข้อแนะน�ำการตดิตัง้ก่อนเร่ิมการตดิตัง้

Kohler Co.	 9	 1146966-X2-A



อุปกรณ์ประกอบและอะไหล่

ฝาปิด

1039038-SP
ฟิลเตอร์

1045451-SP
โอริง

1045450-SP
ประเก็น

1045448-SP
สปริงชดุควบคมุกลาง

1039036-SP
โบลท์ปรับอตัรา
การไหลของนํ �า 1045444-SP

โบลท์ยดึฟิลเตอร์

นอต

นอต

ประแจแอล 2.5 มม.

บลอ็ก

สติ�กควบคมุการชําระล้าง

สกรู M4x5

สกรู M3x8

แผงยดึกลอ่งควบคมุ 

1117927-SP
กลอ่งควบคมุ

1056047-SP
เลนส์เซน็เซอร์

1056046-SP*
ฝาครอบเซน็เซอร์

ประเก็นฟองนํ �า

สกรู M4x50
สกรู M3x6

สกรู 
M2.5x6

1045457-SP
แผน่ยดึ

กลอ่งครอบวาล์ว

ตวัเรือนวาล์ว

ขั �วตอ่

AC

1109605-SP
วาล์วเปิด-ปิด

1045449-SP
ชดุควบคมุกลาง

1045447-SP
โอริง

1045451-SP
โอริง

1100658-SP
ชดุแผงยดึ

1045445-SP
โอริง

1045441-SP
โอริง

16306X-NA
ใช้กบัแหลง่จา่ยไฟ
AC เทา่นั �น 

โอริง

ข้อตอ่

1045459-SP
โอริง

1045456-SP
โอริง

1056081-SP
ชดุโซลนิอยด์วาล์ว 

1045461-SP
ชดุไดอะแฟรม

1045458-SP
ฝาครอบวาล์ว

1045460-SP
สปริง

8988X:1069309-SP
8791X:1145338-SP
ตวัลดแรงดนันํ �า 

1045462-SP
ชดุแผงยดึเมมเบรน 

ขั �วตอ่

**ระบรุหสัวสัดเุคลือบผิว/สีในการสั�งซื �อผลติภณัฑ์

1146966-X2-A	 10	 Kohler Co.



ระยะการติดตั้ง

ขนาดระยะแสดงคา่โดยประมาณ
หนว่ย: มม.

ข้อสังเกต:

ก.	ขนาดท่ีระบไุว้ข้างต้นเป็นคา่ท่ีใช้ส�ำหรับอ้างอิงเทา่นัน้
ข.	ข้อต่อท่ีอยู่ระหว่างชดุข้อต่อทางนํา้ออกและโถปัสสาวะชาย ไม่ได้ให้มาพร้อมชดุผลิตภณัฑ์ ขอแนะน�ำให้ใช้ท่อน�ำ้เข้าด้านบนรุ่น  
	 K-2464X-NA และใช้ทอ่ออ่นสแตนเลสเป็นทอ่น�ำ้เข้าด้านหลงั
ค.	เพ่ือประสทิธิภาพในการช�ำระล้างท่ีดีควรเลอืกใช้โถปัสสาวะชายท่ีมีปริมาณการใช้น�ำ้ท่ีเหมาะสม รวมถงึเลอืกใช้ผลติภณัฑ์ท่ีผลติตาม 
	 มาตรฐาน ASME A112.19.2-2003 ไมค่วรใช้โถปัสสาวะชายท่ีมีระบบช�ำระล้างแบบไซฟอน
ง.	 เพ่ือความสะดวกในการใช้งานเซ็นเซอร์เม่ือใช้งานร่วมกบัโถปัสสาวะชายท่ีมีทางนํา้เข้าอยู่ด้านหลงั  เส้นผ่าศนูย์กลางด้านในของ 
	 ทอ่ออ่นสแตนเลสท่ีเลือกใช้ควรมีขนาดไมน้่อยกวา่ 9 มม. ขนาดชดุข้อตอ่ระบไุว้ในภาพแสดง
จ.	เพ่ือประสทิธิภาพในการช�ำระล้างท่ีดี เส้นผา่ศนูย์กลางด้านในของทอ่นํา้ดีท่ีแนะน�ำ  (รวมถงึมาตรวดันํา้, วาล์ว ฯลฯ) ไมน้่อยกวา่  
	 25 มม. และคา่แรงดนันํา้  (แรงดนัแบบไดนามิคของทอ่นํา้ดี) อยูร่ะหวา่ง 0.18-0.55 เมกะปาสคาล

B
280-360

A

125

125

80-120

G1/2"

ระยะ A B

รุ่น
K-4904X-ER 534 -
K-4904X-ET 534 ≈150

K-4986X-ER 402 -
K-4991X-ER 534 -
K-4991X-ET 534 ≈150

K-5016T-YER 486 -
K-18645X-Y 455 -

Kohler Co.	 11	 1146966-X2-A



1.	เลอืกต�ำแหนง่ท่ีจะตดิตัง้โดยอ้างอิงระยะการตดิตัง้  เจาะชอ่ง 
	 แล้วติดตัง้ท่อน�ำ้ดี ความลึกของช่องท่ีเจาะต้องไม่น้อยกว่า 
	 80 มม. จากนัน้เปิดวาล์วน�ำ้ท�ำความสะอาดทอ่น�ำ้ดีเพ่ือขจดั 
	 เศษสิ่งสกปรกต่างๆ  โปรดอ้างอิงระยะการติดตัง้จากภาพ 
	 ด้านล่าง  เม่ือติดตัง้ผลิตภัณฑ์รุ่นท่ีใช้ไฟ AC  ให้เจาะช่อง 
	 ส�ำหรับติดตัง้ปลอกหุ้ มสายไฟตามภาพแสดงด้านล่าง  
	 (บริเวณเส้นประ)

	 ข้อสงัเกต :

	 ก.	อยา่ให้แสงแดดสอ่งโดนเซน็เซอร์
	 ข.	อย่าวางวตัถสุะท้อนแสง  (เช่น กระจก, สแตนเลสขดัเงา 
		  และแผน่เหลก็ขดัมนับางประเภท เป็นต้น) ไว้หน้าเซน็เซอร์
	 ค.	อย่าติดตัง้ผลิตภณัฑ์ใกล้สนามแม่เหล็กไฟฟ้าหรือแหล่ง 
		  ก�ำเนิดรังสอีลัตราไวโอเลต

2.	สวมฟลชัวาล์วเข้ากบัชอ่ง จากนัน้ตอ่ทอ่นํา้ดีและปรับต�ำแหนง่ 
	 ทางนํา้ออกให้ได้ระดับกับเส้นศูนย์กลางโถปัสสาวะชาย 
	 ยดึฟลชัวาล์วไว้กบัแผงยดึ จากนัน้จงึตอ่ทอ่นํา้เข้า

	 ประกอบและติดตัง้ข้อต่อทางนํา้ออกโดยอ้างอิงขนาดของ 
	 โถปัสสาวะชายและระยะการตดิตัง้ท่ีระบไุว้

	 ข้อสงัเกต : ท�ำความสะอาดทอ่น�ำ้ดีก่อนเช่ือมตอ่ผลติภณัฑ์

ข้อแนะน�ำการติดตั้ง

รายละเอียดทางเทคนิคของเซ็นเซอร์
รุ่น 8791X-YC03 (0.5L)

8988X-C03 (1L)

แหล่งจ่ายไฟ 220 โวลต์ AC 50/60 เฮิรตซ์

ใช้น�้ำช�ำระล้าง แรงดนันํา้ท่ี 0.18-0.55 เมกะปาสคาล : ใช้นํา้ช�ำระล้างเฉลี่ยไมเ่กิน 0.5 ลติร
แรงดนันํา้ท่ี 0.1 เมกะปาสคาล: ไมเ่กิน 0.5 ลติร

แรงดนันํา้ท่ี 0.18-0.55 เมกะปาสคาล : ใช้นํา้ช�ำระล้างเฉลี่ยไมเ่กิน 1 ลติร
แรงดนันํา้ท่ี 0.1 เมกะปาสคาล: ไมเ่กิน 1 ลติร

อุณหภูมิ อณุหภมิูแวดล้อม: 1 ถงึ 55 องศาเซลเซียส

ค่าเริ่มต้นของแรงดัน 0.05-0.9 เมกะปาสคาล

ระยะการตรวจจับ หา่งจากเซน็เซอร์ไมเ่กิน 70 ซม. (ระยะการตรวจจบัอตัโนมตั:ิ 50-70 ซม.)

เวลาทดสอบ ประมาณ 2 หรือ 5 วินาที (ปรับอตัโนมตั)ิ

โหมดการช�ำระล้าง ช�ำระล้างหลงัจากการใช้งาน

ติดตั �งปลอกหุ้มสายไฟ

ตําแหนง่ตดิตั �ง ≥75

≥90 ≥90

≥90

≥50

≥50

≈28

≈130

≈130

ข้อตอ่

ทอ่นํ �าดี (เส้นผา่ศนูย์กลางทอ่
ควรใหญ่กวา่ 25 มม.)

นอต

แผน่รอง

สว่นปลายของปลอกหุ้มสายไฟ
ยาวไมน้่อยกวา่ 5 มม.

ตอ่กลอ่งควบคมุพร้อมกบั
ตดิตั �งแหลง่จา่ยไฟ AC

เส้นผา่ศนูย์กลางด้านนอก
ของปลอกหุ้มสายไฟ
≤25 มม.

แหลง่จา่ยไฟ AC

ข้อตอ่ทางนํ �าออก

1146966-X2-A	 12	 Kohler Co.



เม่ือติดตัง้แหล่งจ่ายไฟไว้บนเพดาน  ให้เดินปลอกหุ้มสายไฟ 
ตามภาพ จากนัน้สอดสายไฟผา่นปลอกหุ้มสายไฟ

เม่ือต้องการติดตัง้แหลง่จา่ยไฟ AC ไว้ในผนงั ให้เดินปลอกหุ้ม 
สายไฟตามภาพจากนัน้สอดสายไฟผา่นปลอกหุ้มสายไฟ

โปรดเลือกใช้แหล่งจ่ายไฟ AC รุ่น 16306X-NA ปฏิบัติตามข้อควรระวังที่ระบุไว้ด้านล้างนี้

		  ข้อควรระวัง:

		  ก.	ห้ามหงายแหลง่จา่ยไฟ AC ขึน้
		  ข.	 ห้ามตอ่ขัว้ตอ่สายไฟ DC เข้ากบัแหลง่จา่ยไฟ AC 220 โวลต์
		  ค.	อยา่ให้ฝาครอบแหลง่จา่ยไฟ AC ได้รับความเสียหายหรือถอดสกรูยดึฝาครอบออก ไมเ่ชน่นัน้อาจเกิดไฟฟ้าร่ัวได้

แผนผงัการเดนิสายไฟเม่ือตดิตัง้แหลง่จา่ยไฟ AC ไว้ในผนงั

ข้อควรระวัง: แหลง่จา่ยไฟ AC 1 จดุสามารถจา่ยไฟให้
เซน็เซอร์ได้สงูสดุไมเ่กิน 2 ต�ำแหนง่

แผนผงัการเดนิสายไฟเม่ือตดิตัง้แหลง่จา่ยไฟ AC ไว้บนเพดาน

ข้อควรระวัง: แหลง่จา่ยไฟ AC 1 จดุสามารถจา่ยไฟให้
เซน็เซอร์ได้สงูสดุไมเ่กิน 2 ต�ำแหนง่

วิธีท่ี 1:	ตอ่แหลง่จา่ยไฟ AC เข้ากบักลอ่งควบคมุโดยตรง วิธีท่ี 2:	ตอ่แหลง่จา่ยไฟ AC เข้ากบักลอ่งควบคมุผา่นสายไฟ

การต่อแหล่งจ่ายไฟ AC

ต�ำแหน่งติดตั้งแหล่งจ่ายไฟ AC

ขั �วตอ่

16306X-NA
แหลง่จา่ยไฟ AC

AC สายไฟที�เตรียมไว้AC

ขั �วตอ่
ขั �วตอ่

16306X-NA
แหลง่จา่ยไฟ AC

พนัสายไฟด้วยเทปพนัสายไฟแล้ว
ตอ่เข้ากบัสายไฟสีเดียวกนั

ตอ่เข้ากบัแหลง่จา่ยไฟ 
AC 220โวลต์ปลอกหุ้มสายไฟ

แหลง่จา่ยไฟ AC

เพดาน

ปลอกหุ้มสายไฟ

ตอ่เข้ากบัเซน็เซอร์ ตอ่เข้ากบั
แหลง่จา่ยไฟ AC

ตอ่เข้ากบั
แหลง่จา่ยไฟ AC

ควํ�าลง

ตอ่เข้ากบัเซน็เซอร์

หงายขึ �น

Kohler Co.	 13	 1146966-X2-A



5.	เม่ือใช้แหลง่จ่ายไฟ AC รุ่น 8791X-YC03 และ 8988X-C03 ให้ตอ่โซลนิอยด์วาล์วเข้ากบักลอ่งควบคมุ จากนัน้จงึตอ่แหลง่จ่ายไฟ  
	 AC เข้ากบัเคร่ือง

	 ประกอบฝาปิดกลอ่งแบตเตอร่ีดงัภาพแสดง

		  ก.	ประกอบฝาครอบเซน็เซอร์เข้ากบัแผงยดึบนผนงั
		  ข.	กดฝาครอบเซน็เซอร์ลงเพ่ือยดึเข้ากบัแผงยดึ
		  ค.	ใช้ประแจขนัฝาครอบให้แนน่โดยหมนุตามเข็มนาฬิกา

ข้อพึงระวัง: 

ก.	ตดิตัง้ปลัก๊ไฟให้หา่งจากน�ำ้
ข.	ตรวจสอบทิศทางของทอ่น�ำ้เข้าและทอ่น�ำ้ออกให้ถกูต้อง
ค.	อยา่ตอ่ขัว้ตอ่สายไฟ DC เข้ากบัแหลง่จา่ยไฟ AC
ง.	อยา่ตอ่แหลง่จา่ยไฟระหวา่งขัน้ตอนการตดิตัง้ เม่ือเช่ือมตอ่สายไฟ ขอแนะน�ำให้ใช้สายไฟ AC ท่ีหุ้มฉนวน พืน้ท่ีหน้าตดั 
	 ของตวัน�ำไฟฟ้าต้องไมน้่อยกวา่ 0.5 ตร.มม. พืน้ท่ีหน้าตดัของสายไฟ DC ต้องไมน้่อยกวา่ 0.3 ตร.มม. ตดัสายไฟหากจ�ำเป็น 
	 (ความยาวของสายไฟไมค่วรเกิน 10 ม.)
จ.	ใช้ฟิวส์ท่ีมีขนาดเหมาะสมกบัปริมาณกระแสไฟฟ้าของแหลง่จา่ยไฟ AC
ฉ.	ตรวจสอบให้แนใ่จวา่ปิดแหลง่จา่ยไฟ AC และวาล์วเปิด-ปิดน�ำ้ ก่อนซอ่มบ�ำรุงผลติภณัฑ์ท่ีใช้ไฟฟ้า

4.	เม่ือปนูเร่ิมแขง็ตวั ให้ถอดสกรูสัน้ออก ถอดบลอ็กออก ประกอบ 
	 ชดุแผงยดึ จากนัน้สวมสกรูยาวเข้ากบัแผงยดึแล้วขนัให้แนน่

3.	ประกอบบล็อกเข้ากับกล่องครอบวาล์วแล้วขนัให้แน่นด้วย 
	 สกรูสัน้ ทาปนูซีเมนต์ในชอ่งท่ีอยูร่อบกลอ่งครอบวาล์วแล้วฉาบ 
	 พืน้ผิวให้เรียบ จากนัน้ปกูระเบือ้ง

บลอ็ก

กระเบื �อง
< 40

กลอ่งครอบวาล์ว
สกรูสั �นขนาด M4x10

สกรูยาวขนาด M4x50

บลอ็ก

ก

ข

ค

ไฟแสดง

ประแจแอล

1146966-X2-A	 14	 Kohler Co.



ข้อแนะน�ำผู้ใช้งาน

การบ�ำรุงรักษา

ข้อพงึระวงั: ในชว่ง 10 นาทีแรก เซน็เซอร์จะปรับระยะการตรวจจบั หลกีเลีย่งการยืนหรือวางสิง่ของไว้หน้าเซน็เซอร์ เซน็เซอร์จะไมช่�ำระล้าง 
ในขัน้ตอนนี ้

สถานะการท�ำงาน: น�ำวตัถท่ีุวางอยูห่น้าเซน็เซอร์ออกก่อนเปิดเคร่ือง

ระยะการตรวจจับ: เม่ือเปิดเคร่ือง ในชว่ง 10 นาทีแรกเซน็เซอร์จะปรับระยะการตรวจจบัอตัโนมตัิ

การช�ำระล้างแบบก�ำจัดกลิ่น: โถปัสสาวะชายจะช�ำระล้างอตัโนมตัิเม่ือมีการใช้งาน 3 ถงึ 4 ครัง้ใน 2 นาที

ปริมาณน�้ำ 
หากต้องการปรับปริมาณนํา้ท่ีใช้ในการช�ำระล้าง ให้ถอดฝาครอบ 
เซน็เซอร์แล้วหมนุสกรูปรับท่ีอยูก่ึง่กลางวาล์วเปิด-ปิด

การช�ำระล้างแบบแมนนวล
	 ชีแ้ทง่แมเ่หลก็ (สติก๊ควบคมุการช�ำระล้าง) ไปท่ีต�ำแหนง่กึง่กลาง 
เลนส์เซ็นเซอร์  ระบบจะเข้าสู่สถานะการท�ำงานแบบแมนนวล 
ไฟแสดงจะกะพริบทกุๆ 1  วินาที  ชีส้ติ๊กควบคมุการช�ำระล้างไปท่ี 
เซ็นเซอร์โถปัสสาวะชายจะเร่ิมช�ำระล้าง  ชีส้ติ๊กควบคุมการ 
ช�ำระล้างไปท่ีเซ็นเซอร์อีกครัง้ การช�ำระล้างจะหยดุลง  เซ็นเซอร์
จะอยู่ในสถานะการท�ำงานแบบแมนนวลเป็นเวลา 8 นาที หลงั
จากนัน้เซ็นเซอร์จะกลบัสู่สถานะการใช้งานปกติ  (การช�ำระล้าง
จะหยดุลงเม่ือสถานะดงักลา่วสิน้สดุลง)

ข้อพึงระวัง:  ระยะเวลาช�ำระล้างสูงสุดคือ  30  วินาทีต่อครัง้ 
หากชีส้ติ๊กควบคมุการช�ำระล้างใกล้เซ็นเซอร์สถานะการท�ำงาน 
แบบแมนนวลจะสิน้สดุลงโดยอตัโนมตัิ จากนัน้เซ็นเซอร์จะกลบั 
สูส่ถานะการท�ำงานปกติ

การซ่อมแซมโถปัสสาวะชาย
เม่ือจ�ำเป็นต้องซอ่มแซมผลติภณัฑ์ ทา่นไมจ่�ำเป็นต้องถอดเซน็เซอร์ออก ให้ปิดเซน็เซอร์ด้วยเทปก่อนท�ำการซอ่มแซม

	 ข้อควรระวัง:	อยา่ใช้เทปกาวเพราะอาจท�ำให้เกิดรอยบนเซน็เซอร์

การดูแลรักษาและท�ำความสะอาด
ดแูลรักษาความสะอาดเซน็เซอร์อยูเ่สมอ เช็ดท�ำความสะอาดด้วยผ้านุม่และน�ำ้ยาท�ำความสะอาดท่ีมีฤทธ์ิออ่นๆ

	 ข้อควรระวัง:

	 ก. อยา่ใช้ผงขดัหรือสารท�ำความสะอาดท่ีมีสว่นผสมของน�ำ้มนั, สารท่ีมีฤทธ์ิเป็นกรดหรือดา่ง
	 ข. อยา่ฉีดสเปรย์หอมปรับอากาศ น�ำ้ยาฆา่เชือ้ หรือสารท�ำละลายประเภทอ่ืนๆ ลงบนเซน็เซอร์โดยตรง
	 ค. ตดิตัง้สายไฟให้หา่งจากน�ำ้
	 ง. อยา่ให้เซน็เซอร์ถกูกระแทก

ท�ำความสะอาดฟิลเตอร์
หากปริมาณน�ำ้ท่ีใช้ในการช�ำระล้างลดลงอย่างเห็นได้ชัด  
หลงัจากตดิตัง้หรือใช้งานไปสกัพกั หากสาเหตไุมไ่ด้เกิดจาก 
แรงดนัน�ำ้ ขอแนะน�ำให้ท�ำความสะอาดฟิลเตอร์

ถอดฝาปิดออกด้วยกญุแจถอดฟิลเตอร์ ถอดฟิลเตอร์ออกมา 
ท�ำความสะอาดด้วยแปรงจากนัน้จงึประกอบกลบัเข้าท่ี

ข้อพึงระวัง: ปิดวาล์วน�ำ้ หรือขนัโบลท์ปรับอตัราการไหล 
ของนํา้ให้แนน่ก่อนท�ำความสะอาด

สกรูปรับ

ประแจแอล

สติ�กควบคมุการชําระล้าง

ฟิลเตอร์
ฝาปิด

กญุแจถอดฟิลเตอร์

Kohler Co.	 15	 1146966-X2-A



การแก้ปัญหาเบื้องต้น
โปรดตรวจสอบรายละเอียดด้านลา่งนีก่้อนท�ำการซอ่มแซม
อาการ สาเหตุที่เป็นไปได้ การแก้ปัญหา

ผลติภณัฑ์ไมช่�ำระล้าง  
(ไฟแสดงไมก่ะพริบ)

1. ไมไ่ด้ตอ่สายไฟหรือตอ่สายไฟไมถ่กูต้อง
2. มีกระจกหรือวตัถสุะท้อนแสงประเภทอ่ืนๆ อยูใ่น 
    ระยะการตรวจจบั
3. ต้องท�ำความสะอาดเซน็เซอร์

1. ตรวจสอบการเช่ือมตอ่สายไฟ
2. น�ำวตัถดุงักลา่วออก
3. ท�ำความสะอาดเซน็เซอร์

ผลติภณัฑ์ไมช่�ำระล้าง
หรือช�ำระล้างไมดี่ใน
ขณะท่ีไฟแสดงกะพริบ

1. อยูใ่นสถานะรอด�ำเนินการ
2. โบลท์ปรับอตัราการไหลของนํา้เปิดไมส่ดุ
3. แรงดนัน�ำ้ต�่ำ
4. ฟิลเตอร์อดุตนั
5. ตอ่ขัว้ตอ่ไมแ่นน่

1. รอ 10 นาที
2. เปิดโบลท์ปรับอตัราการไหลของนํา้
3. ปรับแรงดนัน�ำ้
4. ท�ำความสะอาดฟิลเตอร์
5. ตรวจเช็คขัว้ตอ่

ผลติภณัฑ์ช�ำระล้างแต ่
ไฟแสดงไมก่ะพริบ

1. รูขนาดเลก็บนไดอะแฟรมอดุตนั
2. มีวตัถแุปลกปลอมอยูใ่นวาล์ว

1. ท�ำความสะอาดรูขนาดเลก็บนไดอะแฟรม
2. ท�ำความสะอาดวาล์วและไดอะแฟรมด้วยแปรง

ไฟแสดงสถานะ
แบตเตอร่ีกะพริบและ
ผลติภณัฑ์ไมช่�ำระล้าง

1. ไฟฟ้าดบั (AC) 1. ตรวจสอบแหลง่จา่ยไฟ

1146966-X2-A		  Kohler Co.


